Name:  _____________________


FSU COP 4610, CGS5765, Homework 2 (due 1/24/2018 in class)
1. Why doesn’t BIOS load the entire operating system directly (as opposed to going through an intermediary operating system loader)? (1pt)

2.
Suppose we have three processes.  

	Process ID
	Required CPU time
	Arrival Time

	1
	400 msec
	0 msec

	2
	300 msec
	50 msec

	3
	200 msec
	150 msec


a. Draw the execution timeline for the FIFO scheduling policy, and compute the average response time, average wait time, and average turnaround time.  Please show your work (1pt).

b. Assume the time slice of 100 msec and a zero context-switching cost.  Draw the execution timeline for the round-robin scheduling policy, and compute the average response time, average wait time, and average turnaround time.  Please show your work (1pt).

c. Draw the execution timeline for the SJF scheduling policy, and compute the average response time, average wait time, and average turnaround time.  Please show your work (1pt).
d. Draw the execution timeline for the SRTF scheduling policy, and compute the average response time, average wait time, and average turnaround time.  Please show your work (1pt).
3.
For each scheduling strategy mentioned in class (FIFO, RR, SJF, SRTF, multi-level feedback queues, lottery scheduling), find creative/funny examples in life, where the scheduling strategy works well (3pts) and not so well.  (2pts)


